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(1) The cyclist later ascends a straight hill inclined at 3° to the horizontal. His power output and the
resistance force are still both unchanged. Find his acceleration when he is travelling at 4ms™'.
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6  Particle P travels in a straight line from A to B, The velocity of P at time 1 s after leaving A is denoted
by vm s™!, where

v=0.048 + e + kr.
P takes 5 s to travel from A to B and it reaches B with speed 10ms™'. The distance AB is 25 m.
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(i) Find the values of the constants ¢ and k. = q\Hm\.o. [6]
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